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1. BEEXRE
1. 1 EERE
No &n B Bhsu [R BN EIRET )i AL A REH
(V) (H2) (kVA) e

|| sEERE | tEE gf’;/ 6,600 50 625 AT 3 7
2 | BEERE | dtmE 92?/ 6,600 50 250 AT st 6
3 | mEERE | diEE T14—EIL 6,600 50/60 500 2z 13
4 | EREERE it T14—EIIL 6,600 50/60 400 L2z 64
5 | EEERE BRI T4—EIL 6,600 50/60 500 E 2 65
6 | BEERE H &R T4—EIL 6,600 50/60 500 E 2 16
7 | BEERE H &R T14—EIL 6,600 50/60 300 E 2 44
8 | BEEBIRE H &R T14—EIL 6,600 50/60 100 2 2
9 | BEERE At B T14—EIL 6,600 50/60 250/300 E 2 24
10 | BEERE JeRE T14—EIL 6,600 60 300 E 2 1
M| SEERE b b T4—EIL 6,600 50/60 | 1,000/1,000 2 3
12 | BEERE 3] T14—EIL 6,600 60 500 2 4
13| EEERE 3k T4—EIL 6,600 50/60 500 2 35
14 | BEERE GalES| T4—¥JL | 6,600/3300 | 50/60 625 XM 3
15 | BEERE HE T4—EJL | 6,600/3,300 50/60 1,000 2 2
16 | EEERE HE T4—tEJL | 6,600/3,300 60 500 E 2 1
17 | EEERE FE T4—EIL 6,600 50/60 500 L2 4
18 | EEERE FE T4—+JL | 6,600/3,300 50/60 300 E 2 4
19 | BEERE FE T14—EIL 6,600 60 300 E 2 12
20 | EEERE HE T14—EIL 6,600 50/60 300 E 2 16
21 | EEERE el 3| T14—EIL 6,600 50/60 250/300 L2 25
22 | EEERE Ui T14—EII 6,600 60 500 L2z 30
23 | BEERE Lo T4—EIL 6,600 50/60 500 E 20 18
24 | BEBIRE Jui T14—EIIL 6,600 60 300 2 3
25 | EEERE L T14—EIL 6,600 50/60 300 L2 6
26 | EEERE Fu T14—EIL 6,600 60 200 L2z 5
27 | EEERE bk T14—EIL 6,600 50/60 500 E 20 8
28 | BEEBIRE bk T14—EIIL 6,600 60 300 L2 1
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1. 2 EEERHE
% =5 1
No B BEhatt [RENHE SHEE | K e A — REH
(V) (Hz) (kVA)
1 | EEERE | dtisE T4—EIL 210/105 50 75 2R 16
2 | BEERE i T14—EIL 210/105 50 75 2R 12
3 | EEERE it T14—EIL 210/105 50/60 75 EZ 51
4 | BEEERE i T14—EIL 210/105 50/60 13 E 2 7
5 | EEEIRE BRI T1—EIL 210/105 50/60 75 EE 1 69
6 | EEERE RIR T14—EIL 210/105 50 75 2R 35
7 | BEERE b T4—EIL 210/105 60 60 EZR: 31
8 | EEEIRE bk T14—EIL 210/105 50/60 75 2 6
9 | EEERE E3kic) T14—EIL 210 50/60 75 EE 4
10 | IEEERE HE T4—EIL 210/105 50/60 75 2R 51
1| BEEERE HE T4—EIL 210/105 60 75 2R 11
12 | EEERE Y =] T14—EIL 210/105 60 75 EZ 1 25
13 | REERE E T14—EIL 210/105 50/60 75 2 s 23
14 | BEEERE Ui T14—EIL 210/105 60 75 2 ;| 56
15 | REERE Fui T14—EIL 210/105 60 100 2R 17
16 | EEERE Lk T4—EIL 210/105 60 75 EE 2
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2. EEEM
2. =EEIRE
i %
5 = S T = x

No an B B h=t [EENHE E*(ﬁv?E J;gl,_lgi;;y ,E(T(g\/%jj pa—— REHY

1| SEERE | dmE gf?/ 6,600 50 4000 AT 3t :

2 | BEZEE | dtmEE gf’;/ 6,600 50 2000 | Ti-AE 1

3 | BESEE | dmE 52?/ 6,600 50 2000 AT 3t 4

4 | BREERE Rt T14—EIL 6,600 50/60 1000 E 2 5

11




